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                                                     Abstract 

 

In the present research thesis, we have obtained various and interesting 
mathematical connections between some equations of the ‘Black Hole Entropy and 
Soft Hair’, the fundamental last paper of S.W. Hawking, mathematics and physics of 
Black Hole, Ramanujan’s Class Invariants and Mock Theta Functions 
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https://www.express.co.uk/news/science/1030107/Stephen-Hawking-final-theory-
black-holes-science-paper 

 

 

https://www.sanskritimagazine.com/india/deathbed-theory-of-an-indian-
mathematical-genius-proven-correct/ 
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From: 

Black Hole Entropy and Soft Hair 
Sasha Haco†, Stephen W. Hawking, Malcolm J. Perry† and Andrew Strominger† 

https://arxiv.org/abs/1810.01847v4 
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We have developed the eq (7.1) with the data of SMBH87, concerning the mass and 
the spin. 

We have obtained the following expression: 

For a = J / M, where J = 0,9 and M = 13,12806 * 1039 that are J and M of SMBH87, 
we obtain: 

(0.9 / 13.12806*10^39) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

Now, we have: 

a) (Pi^2)/3  * 
(((((((((12*0.9*2*13.12806*10^39)/((4Pi*((0.9/13.12806*10^39)))))))) + 
(((((12*0.9*2*sqrt(((13.12806*10^39)^2-
((0.9/13.12806*10^39))^2))))))/(((4Pi*((0.9/13.12806*10^39))))))))) 
 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

Input interpretation: 

 
Or: 

b) (Pi^2)/3  * (((((((((6*0.9*13.12806*10^39)/((Pi*((0.9/13.12806*10^39)))))))) 
+ (((((6*0.9*sqrt(((13.12806*10^39)^2-
((0.9/13.12806*10^39))^2))))))/(((Pi*((0.9/13.12806*10^39))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

 

Or: 

c) 2(Pi)  * (((((((((0.9*13.12806*10^39)/((0.9/13.12806*10^39)))))))) + 
(((((0.9*sqrt(((13.12806*10^39)^2-
((0.9/13.12806*10^39))^2))))))/((0.9/13.12806*10^39))))))))) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

We note that the above expression is a length of a circle with r equal to 

 (((((((((0.9*13.12806*10^39)/((0.9/13.12806*10^39)))))))) + 
(((((0.9*sqrt(((13.12806*10^39)^2-
((0.9/13.12806*10^39))^2))))))/((0.9/13.12806*10^39))))))))) 

Indeed, we have: 
 
(((((((((0.9*13.12806*10^39)/((0.9/13.12806*10^39)))))))) + 
(((((0.9*sqrt(((13.12805*10^39)^2-
((0.9/13.12806*10^39))^2))))))/((0.9/13.12806*10^39))))))))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
((3.44691787446600000000000000000000000000000000000 × 10^80))^1/25 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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1.665318234631826747203812088027278191502787901128 *103 
 
Result: 

 
Open code 

 
 

Now, we have that, calculating the integral of the above expression a), we obtain: 

integrate (Pi^2)/3  * 
(((((((((12*0.9*2*13.12806*10^39)/((4Pi*((0.9/13.12806*10^39)))))))) + 
(((((12*0.9*2*sqrt(((13.12806*10^39)^2-
((0.9/13.12806*10^39))^2))))))/(((4Pi*((0.9/13.12806*10^39)))))))))x 

Indefinite integral: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plot of the integral: 

 
Open code 

 
 
Alternate form assuming x is real: 

 
Open code 

 

Or, from c): 
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integrate 2(Pi)  * (((((((((0.9*13.12806*10^39)/((0.9/13.12806*10^39)))))))) + 
(((((0.9*sqrt(((13.12806*10^39)^2-
((0.9/13.12806*10^39))^2))))))/((0.9/13.12806*10^39)))))))))x 

Indefinite integral: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Plot of the integral: 

 
Open code 

 
 
Alternate form assuming x is real: 

 
Open code 

 

This result, for x = 1, is equal to: 

Scientific notation: 

 
Open 

Continuing the integrations, we have:  

integrate (1.08288×10^81)x 

Indefinite integral: 

 
Open code 

 

integrate (5.4144×10^80)x 

Indefinite integral: 

 
Open code 

integrate (2.7072×10^80) x 
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Indefinite integral: 

 
Open code 

 

integrate (1.3536×10^80) x 

Indefinite integral: 

 
 

and so on..... 

(Note that, for example, 0.06768 * 16 = 1,08288;   0.13536 * 8 = 1,08288; 

0.27072 * 4 = 1,08288;   0.54144 * 2 = 1,08288)  

Continuing to carry out successive integrals of the values gradually obtained, the 
results will always be numbers with very high exponents, which decrease very slowly 
and are all sub-multiples of the initial result and of 1.08288 .... All this is strictly 
connected to that physical emission process of particles with a black hole called 
Hawking Radiation. Moreover, when the black hole emits Hawking radiation, the 
entropy must decrease! But, as you can already see from the results of the 
calculations, it will do it in extremely long times (it is calculated that the time that a 
black hole of a solar mass takes to evaporate is equal to 1067 years). 

 

An identical result, we can to obtain, also as follows: 

from eqs. (2.4) and (7.1), after some calculation, we obtain: 

2𝜋

𝑎
ቀ𝑀𝐽 + ඥ𝑀ଶ − 𝑎ଶቁ, 

 

where  ൫𝑀𝐽 + √𝑀ଶ − 𝑎ଶ൯, is: 

(13.12806*10^39 * 0.9) + sqrt((((13.12806*10^39)^2 - (0.9 / 13.12806*10^39)^2))) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Multiplying for 
ଶగ

௔
, we obtain the final result of  

2𝜋

𝑎
ቀ𝑀𝐽 + ඥ𝑀ଶ − 𝑎ଶቁ, 

 

2Pi/(6.8555445359024867345213230286881687012399394883935631 × 10^-41) * 
(13.12806*10^39 * 0.9) + sqrt((((13.12806*10^39)^2 - (0.9 / 13.12806*10^39)^2))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
 
Result: 

 More digits 

 
 
Result: 

 Fewer digits 

 More digits 

 
1.08288159962514159427961756214265524756132183588 × 1081 

This result is identical to that obtained previously calculating the integral. 

Now, we have: 

((1.08288159962514159427961756214265524756132183588 × 10^81))^6 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
1.61244847308029939489786323492279358431379319686×10486 
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Note that we have from the result of Cardy formula without exponent, the following 
expressions: 

(1.0828815996251415942796175621426552475613218358896948)^6 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.612448473080299394897863234922793584313793196864917397696 

Continued fraction: 

 Linear form 

  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 
 

 
 

That is: 
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Note that, from the following mean of 7th and 5th exponentiations, we obtain: 

1/2 * (((((1.082881599625)^7 + (1.082881599625)^5)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is a very good approximation to the value of golden ratio 

Then, we have that: 

(1.612448473080299394897863234922793584313793196864917397696)^1/6 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

All 6th roots of 1.612448473080299394897863234922793584313793196864917397696: 

 More roots 

 More digits 

 Show trigonometric form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 
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Open code 

 
 

 
 

We note that: 

1.082881599625141594279617562142655247561321835879999999999 

Input interpretation: 

 
Open code 

 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From: 
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Input interpretation: 

 
Open code 

 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 
 

 
 

 
 

We have: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

Where  

Continued fraction: 

 Linear form 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 
 

 
 

 
 

We observe that, from this last result, we obtain: 

97.4090910340 *1.08288159962514159427961756214265524756132183588^Pi 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 

Or: 

pi^4 *1.0829^Pi 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
125.10135357299263544557865025970547820338357297888975 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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  

  

  

 

This results 125,0946 and 125,1013 are practically equals to the Higgs boson mass, 
that is 125.18 ± 0.16 GeV/c2 that in energy is equal to 11,2662 * 1018 

We obtain from 11.2662 without exponent, the following interesting result: 

(11.2662)^1/5 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6231381719304184282972530305796606817387070408682613 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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 Or, with the our results: 

125,0946 * 9 * 1016 and 125,1013 * 9 * 1016 

11,258514 

11,259117 

(11.258514)^1/5 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6229166447824969140758145682049670799756057534188044 

(11.259117)^1/5 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6229340289199018807875186871421377128470965072593065 

Now, we note that: 

1.612448473080299394897863234922793584313793196864917397696 

1.6229166447824969140758145682049670799756057534188044 

1.6229340289199018807875186871421377128470965072593065 
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The mean of above results is: 

((((1.612448473080299394897863234922793584313793196864917397696+(1.6229
166447824969140758145682049670799756057534188044+1.622934028919901880
7875186871421377128470965072593065)/2))))/2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

1.617686904965749396164764931298172990362572163601986423848 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

Now, we have from the initial result: 

(((90 * 1.0828815996251415942796175621426552475613218358896948))) *18 – 
27 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

(((((((90 * 1.0828815996251415942796175621426552475613218358896948))) *18 - 
27)))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 
2 * (((((((90 * 1.0828815996251415942796175621426552475613218358896948))) 
*18 - 27)))))^1/3 

Input interpretation: 



22 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 

(((((((90 * 1.0828815996251415942796175621426552475613218358896948))) *18 - 
27)))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
1.64370541171099062871185131629251928958432650892909035 

Continued fraction: 

 Linear form 
 

 



23 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

And from the mean of 15th and 16th roots, we obtain: 
 
1/2 * [(((((90 * 1.082881599))) *18 - 27)))))^1/16  +   ((((90 * 1.082881599))) *18 - 
27)))))^1/15] 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result is a very good approximation to the value of golden ratio  
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Using cL = cR = 12J as given above, the temperature formulae (2.4) and the Cardy 
formula  

 

yields the Hawking-Bekenstein area-entropy law for generic Kerr 

 

We observe that from the Cardy formula, we have obtained: a) 1.612448473080299, 
a golden number; b) 125,0946 and 125,1013 values practically equals to the Higgs 
boson mass; c) 125,0946 * 9 * 1016 = 11.258514 and 125,1013 * 9 * 1016 = 
11,259117 that are the values of Higgs boson energy; d) from the mean of the 
following results:1.6124484730802;  1.6229166447824; 1.6229340289199 we have 
obtained 1.61768690496, a very good approximation to the golden ratio; e) the value 
1727,26819 result that is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729. f) from this last result, we have obtained 11,9983 that is very near to the black 
hole entropy 12,1904 (that is the ln of 196884) and 23,9966 value that is linked to the 
"Ramanujan function" (an elliptic modular function that satisfies the need for 
"conformal symmetry") that has 24 "modes" corresponding to the physical vibrations 
of a bosonic string; g) 1.6437054117109, which is a recurring number in 
Ramanujan's equations. 

 

Now, from the result of Cardy formula, we obtain: 

1.0828815996251415942796175621426552475613218358896948 * 10^81 * 
33021.10 *  (((5(sqrt(34)+sqrt(21))/3) 

Where 33021,10 is a result of Mock Theta Function 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1.0828815996251415942796175621426552475613218358896948 * 10^81 * 1/3 * 
33021.10 *  (((5(sqrt(34)+sqrt(21))/3))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

The results 6,206105 * 1086 and 2,068702 * 1086 are the values of Dark Matter and 
Relic Gravitons entropies contained within the cosmic event horizon.  

 

From the: 

, 

We obtain: 

((((((13.12806*10^39 + ((((sqrt((13.12806*10^39)^2-
(((0.9/(13.12806*10^39)))^2)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

For r-  
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We obtain: 

((((((13.12806*10^39 - ((((sqrt((13.12806*10^39)^2-
(((0.9/(13.12806*10^39)))^2)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Open code 

 

sqrt(((((((((((13.12806*10^39 + ((((sqrt((13.12806*10^39)^2-
(((0.9/(13.12806*10^39)))^2)))))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.62037403089533621419443912698106171830981990274 × 10^20 

From: 

 

We obtain the value of r for ω = 6.62606957 * 10-34: 

1/(6.62606957*10^-34) * (((((((((((((13.12806*10^39 + 
(((((((sqrt((13.12806*10^39)^2-
(((0.9/(13.12806*10^39)))^2)))))))))))*6.62606957*10^-34+0.08333))) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is identical to the previous expression concerning r+  

For: 

 

 

 We obtain: 

sqrt((((2.62561*10^40+2.62561*10^40)/(2.62561*10^40)))) * 
exp(2Pi*(2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Power of 10 representation: 

 
 

We have that  TR =  (2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39))) 

For: 
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From the above expression with positive sign, we obtain: 

ln  ((((((((((sqrt((((2.62561*10^40+2.62561*10^40)/(2.62561*10^40)))) * 
exp(2Pi*(2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39)))))))))^2 

Input interpretation: 

 
 

   
Decimal approximation: 

 More digits 

 
 
From this result we obtain: 
 
(3.829907290733333333 × 10^80)^(Pi/34^2) 
 
Input interpretation: 

 
 
Result: 

 More digits 

 
1.65575529459346779927 
 
Continued fraction: 

 
  
Possible closed forms: 

 More 
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We note that, the result 1,65575529... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

              ⇒     ⇒ 

              ⇒     

              =  

                  1.65575529459346779927 
 

 
From: 

 

 

 

 

We obtain the following inverse formula:  
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exp
2𝜋𝑇ோ

ln(𝜔ା)ଶ
 

That yield: 

exp(((2Pi*(2.62561*10^40)))/(((4Pi*(0.9/13.12806*10^39))) * ln 
(((((((sqrt((((2.62561*10^40+2.62561*10^40)/(2.62561*10^40)))) * 
exp(2Pi*(2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39)))))))))^2 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

Or: 

exp(((2Pi*(2.62561*10^40))) * 1/(((4Pi*(0.9/13.12806*10^39))) * ln 
(((((((sqrt((((2.62561*10^40+2.62561*10^40)/(2.62561*10^40)))) * 
exp(2Pi*(2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39)))))))))^2 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
1.6487212707001281468486507878141635716537761007101480 
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Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From: 

 

where 𝜙 = 1.64872127 … 

we obtain: 

sqrt((((2.62561*10^40+2.62561*10^40)/(2.62561*10^40)))) 
exp^(((((1.64872127))2Pi*(2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39)))))) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

Series expansion at x = 0: 

 
Open code 

 

Derivative: 

 Step-by-step solution  

 
 

The result of  w+ = (((((1.41421 (e^1)^(3.15722×10^80)))))) 

Indefinite integral: 

 
 

Then: 

1+1/((1.5236+1.4649)/2.01) (((((1.41421 (e^1)^(3.15722×10^80))))))^(1/10^240) 

Where 1,5236 and 1,4649 are Hausdorff dimensions 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 Fewer digits 

 More digits 
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1.6725782164965701857118955997992303831353521833695834 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

1+1/((3/2) (((((1.41421 (e^1)^(3.15722×10^80))))))^(1/10^240) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6666666666666666666666666666666666666666666666666666 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  
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  

  

  
  

This result 1,6666666667 is the following Hausdorff dimension: 

 

The fractal dimension for the theoretical structure is log 32/log 8 = 1.6667. 

 

1+1/((1.5236) (((((1.41421 (e^1)^(3.15722×10^80))))))^(1/10^240) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6563402467839327907587293252822263061170911000262536 

Continued fraction: 

 Linear form 

 
Open code 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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  

  

 

 

We note that, the result 1,656340... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

 

 

 

                       ඨቆටଵଵଷ √ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

 

                        ⇒       

                        = 1,656340... 

 

1+1/((21/13+34/21)/2 (((((1.41421 (e^1)^(3.15722×10^80))))))^(1/10^240) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6183465458663646659116647791619479048697621744054360 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

  

 

This result 1,6183465... is a very good approximation to the value of golden ratio. 

With regard the result linked to the fractal Hausdorff dimension value 1.6667, we 
observe: 
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If the Hilbert space is represented from a Clifford torus, it is possible that the Kerr 
black hole is a toroidal structure 

From Wikipedia  

 

Now, we have the following formulas: 
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From (2.5), we obtain: 

((((2*13.12806*10^39)^2))) / ((((0.9 / 13.12806*10^39)))) * 6.62606957*10^-34 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Scientific notation: 

 
 

(((((((2*13.12806*10^39)^2))) / ((((0.9 / 13.12806*10^39)))) * 6.62606957*10^-
34)))))))))) - 0.9 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

For (2.6) we have that: 

6.6630816027586229178448867199999 × 10^87 / 
((((((((2*sqrt(((13.12806*10^39)^2-
((0.9/13.12806*10^39))^2))))))/(((4Pi*((0.9/13.12806*10^39))))))))))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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((((6.66308160275862291784488672 × 10^87))))) / 
(((((((2*(((13.12806*10^39)))))))/(((4Pi*((0.9/13.12806*10^39))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

and obtain: 

(2.18623279149823328802502730784317690450075718539 × 10^8 + 
2.18623279149823328802502730784320971563713277920 × 10^8) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
4.37246558299646657605005461568638662013788996459 × 10^8 

 

1/2(((((4.37246558299646657605005461568638662013788996459 × 10^8)^1/41 + 
(4.37246558299646657605005461568638662013788996459 × 10^8)^1/42)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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1.6152797540523920836243585751513024578986036910416 

This value is a golden number, because is in the range of golden ratio value 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

((4.37246558299646657605 × 10^8)^1/4  - (3^2 * 2) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This value is a good approximation to the Higgs boson mass 125,18 
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12 * ((4.37246558299646657605 × 10^8)^1/4 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 

(((((12 * ((4.37246558299646657605 × 10^8)^1/4)))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 
 

2*(((((12 * ((4.37246558299646657605 × 10^8)^1/4)))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 
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(((((12 * ((4.37246558299646657605 × 10^8)^1/4)))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
1.6442109004131825039227356463880273603048609587634042 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

1/2 ((((((((((12 * ((4.37246558299646657605 × 10^8)^1/4)))))^1/16 + (((((12 * 
((4.37246558299646657605 × 10^8)^1/4)))))^1/15)))))))) 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6190538119604830985831467113497986512213948458159550 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

This value 1,6190538 is very near to the golden ratio. 

Now, we have that: 
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(4.37246558299646657605005461568638662013788996459 × 10^8)^10 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1/2(2.4739 + 2.3347) * (4.37246558299646657605005461568638662013788996459 
× 10^8)^10 

Where 2.4739 and 2.3347 are Hausdorff dimensions 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

((((2.01 + 2.05)/2)) *1.2108) * 
(4.37246558299646657605005461568638662013788996459 × 10^8)^10 

Where 1.2108,  2.01 and 2.05 are Hausdorff dimensions 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
  

This results 6,141191 * 1086 and 6,27816 * 1086 are practically equals to the value of 
Dark Matter entropy contained within the cosmic event horizon  
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(4.37246558299646657605005461568638662013788996459 × 10^8)^10 * (8^2 + 
8*3) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is practically equal to the value of Photons entropy contained within the 
cosmic event horizon 

1/4 (4.37246558299646657605005461568638662013788996459 × 10^8)^12 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is practically equal to the value of SMBHs entropy contained within the 
cosmic event horizon 

 

1/2 (4.37246558299646657605005461568638662013788996459 × 10^8)^14 * 
(24+32) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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This result is practically equal to the total entropy of Cosmic Event Horizon 2,6 * 
10122 . We note that, from the square root of this value, we obtain a multiple of a 
golden number, also near to the value of golden ratio. Indeed: 

sqrt(((((1/2 (4.37246558299646657605005461568638662013788996459 × 10^8)^14 
* (24+32))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
  

Now, we note that from the formula: 

 

We obtain the following interesting expressions: 

-8^2+(((((((((((((((((2*13.12806*10^39)^2))) / ((((0.9 / 13.12806*10^39)))) * 
6.62606957*10^-34))))))^1/27)))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
 

(((((((((((-8^2+(((((((((((((((2*13.12806*10^39)^2))) / ((((0.9 / 13.12806*10^39)))) * 
6.62606957*10^-34))))))^1/27))))))))^1/3 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 
2*(((((((((((-8^2+(((((((((((((((2*13.12806*10^39)^2))) / ((((0.9 / 13.12806*10^39)))) 
* 6.62606957*10^-34))))))^1/27))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 
(((((((((((-8^2+(((((((((((((((2*13.12806*10^39)^2))) / ((((0.9 / 13.12806*10^39)))) * 
6.62606957*10^-34))))))^1/27))))))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
1.6435923980586093145799367873492901635775398091369341 



48 
 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

Now, from the above expression without -8^2, we obtain: 

(1.2108+1.5236+1.2)*(((((((((((((((((2*13.12806*10^39)^2))) / ((((0.9 / 
13.12806*10^39)))) * 6.62606957*10^-34))))))^1/27))))))))^1/16 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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6.2831012124494820339036602536564880740732902593657308 

 

1/2*(1.2108+1.5236+1.2)*(((((((((((((((((2*13.12806*10^39)^2))) / ((((0.9 / 
13.12806*10^39)))) * 6.62606957*10^-34))))))^1/27))))))))^1/16 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
3.1415506062247410169518301268282440370366451296828654 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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This results 3,1415506... and 6,2831012 are very good approximations to 𝜋, that is 
equal to 3.14159265... and 2𝜋, that is equal to 6,283185... 

 

We have that  TR =  (2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39))) 

The result of  w+ = (((((1.41421 (e^1)^(3.15722×10^80)))))) 

 

From the (4.3), we obtain: 

(((((2Pi * (2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39)))))))) * (((((1.41421 
(e^1)^(3.15722×10^80))))))^(((((1+(((2/(((((2Pi* 
(2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Power of 10 representation: 

 
 

Now, we carry out the exponentiation (1/1080) of  

((((([((((((((((((((((((((((((1.41421 (e^1)^(3.15722×10^80))))))^(((((1+(((2/(((((2Pi* 
(2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39)))))))))))))))))))]^(1/10^80)))))) 
 
Input interpretation: 

 
Open code 

 
 

 Units »  

Enlarge Data Customize A Plaintext Interactive  
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Decimal approximation: 

 More digits 

 
 
and of: 
 
(((((2Pi * (2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39)))))))) ^(1/10^80)))))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
The final result is 23.5052... Multiplying the expression by 73 = 82 + 32 we obtain: 
 
(8^2+3^2)*((((([((((((((((((((((((((((((1.41421 
(e^1)^(3.15722×10^80))))))^(((((1+(((2/(((((2Pi* 
(2.62561*10^40)/(((4Pi*(0.9/13.12806*10^39)))))))))))))))))))]^(1/10^80))))))*1 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
 
1715.8767288763137014640160231104532831632218074109693 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
 
Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

From the first closed form  
 
1114+(4632/Pi)+((1249/(sqrtPi)))-(468(sqrtPi))-238Pi 
 

We obtain: 

((((1114+(4632/Pi)+((1249/(sqrtPi)))-(468(sqrtPi))-238Pi))))^1/3 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 

This result is very near to the value of black hole entropy 12,1904 
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Property: 

 
Open code 

 
 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representation: 

 
 

2*((((1114+(4632/Pi)+((1249/(sqrtPi)))-(468(sqrtPi))-238Pi))))^1/3 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

((((1114+(4632/Pi)+((1249/(sqrtPi)))-(468(sqrtPi))-238Pi))))^1/15 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Decimal approximation: 

 More digits 

 
Open code 

1.6429804873354… 
 
Property: 

 
 

Continued fraction: 

 Linear form 
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Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representation: 

 
Open code 

 
 

  

Now, we analyze two formulas concerning the Hawking radiation. 

From Wikipedia 

Hawking radiation is black-body radiation that is predicted to be released by black 
holes, due to quantum effects near the event horizon. It is named after the theoretical 
physicist Stephen Hawking, who provided a theoretical argument for its existence in 
1974. 

The radiation from a Schwarzschild black hole is blackbody radiation with 
temperature 

 

 

For simplicity, assume a black hole is a perfect blackbody (ε = 1).  

Stefan–Boltzmann–Schwarzschild–Hawking black hole radiation power law 
derivation:  
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Now, from the our usual values used in this research paper, we obtain the following 
interesting expressions: 

For T, we have: 

((((1.054571726*10^-34) * (3*10^8)^3))) / ((((8Pi * 6.67408*10^-11 * 
13.12806*10^39 * 1.380649*10^-23)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

For P, where M (mass of BH) is express in energy, we have: 

((((((6.582*10^-16) * (3*10^8)^6))))) / ((((((15360Pi * (6.67*10^-11)^2 * 
(13.12806*10^39 * 9*10^16)^2)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is practically equal to the 15th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,6010451... 

Indeed, from 1,6010451 it is possible to obtain, simply multiplying by 10-63, the 
following mathematical connection: 
 
1.60104512 * 10^-63 
 
Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 
  

Indeed: 

 

        ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భఱ

× 10ି଺ଷ = 1,6010451 … × 10ି଺ଷ ⇒  

         ⇒    

         =  

 

Note that, this result concerning P, i.e. the energy dispersion, is an infinitesimal 
golden number, that is in the range of golden ratio (1.61803398...). Moreover, there is 
a practically perfect correspondence with the above Ramanujan class invariant, 
multiplied by 10-63  

For P, we have also this alternate formula: 

((((((1.054571*10^-34) * (3*10^8)^6))))) / ((((((15360Pi * (6.67*10^-11)^2 * 
(13.12806*10^39 * 9*10^16)^2)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

We have calculated the square root of P: 

sqrt(((((((((1.054571*10^-34) * (3*10^8)^6))))) / ((((((15360Pi * (6.67*10^-11)^2 * 
(13.12806*10^39 * 9*10^16)^2))))))))) 



60 
 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Also this result, is an infinitesimal golden number, that is in the range of golden ratio 
(1.61803398...) 

For T, we have developed the following computations: 

((((((((1.054571726*10^-34) * (3*10^8)^3))) / ((((8Pi * 6.67408*10^-11 * 
13.12806*10^39 * 1.380649*10^-23)))))))*(((Pi^(5/2))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is a golden number, that is in the range of golden ratio (1.61803398...) 

 

((((((((1.054571726*10^-34) * (3*10^8)^3))) / ((((8Pi * 6.67408*10^-11 * 
13.12806*10^39 * 1.380649*10^-23)))))))*(((Pi(Pi+ln(12))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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This result is practically equal to the 14th root of the following Ramanujan’s class 

invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 1,65578... 

Indeed, from 1,65578 it is possible to obtain, simply multiplying by 10-16:  

 

1.65578455 * 10^-16 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

Thence: 

        ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

× 10ିଵ଺ = 1,65578 … × 10ିଵ଺ ⇒  

         ⇒      

         =  

 

From the formula of P, we obtain: 

2*8^2+((((((6.582*10^-16) * (3*10^8)^6))))) / ((((((15360Pi * (6.67*10^-11)^2 * 
(13.12806*10^39 * 9*10^16)^2))))))*10^66 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

((((((((2*8^2+((((((6.582*10^-16) * (3*10^8)^6))))) / ((((((15360Pi * (6.67*10^-
11)^2 * (13.12806*10^39 * 9*10^16)^2))))))*10^66))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

2*((((((((2*8^2+((((((6.582*10^-16) * (3*10^8)^6))))) / ((((((15360Pi * (6.67*10^-
11)^2 * (13.12806*10^39 * 9*10^16)^2))))))*10^66))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 
 

((((((((2*8^2+((((((6.582*10^-16) * (3*10^8)^6))))) / ((((((15360Pi * (6.67*10^-
11)^2 * (13.12806*10^39 * 9*10^16)^2))))))*10^66))))))))^1/15 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
1.6438187787578943564494183488914510895650008348787332 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From the formula of T, we obtain: 

24*3 + ((((((((1.054571726*10^-34) * (3*10^8)^3))) / ((((8Pi * 6.67408*10^-11 * 
13.12806*10^39 * 1.380649*10^-23)))))))*(((Pi(Pi+ln(12))) * 10^19 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 
((((((((24*3 + ((((((((1.054571726*10^-34) * (3*10^8)^3))) / ((((8Pi * 6.67408*10^-
11 * 13.12806*10^39 * 1.380649*10^-23)))))))*(((Pi(Pi+ln(12))) * 10^19))))))))^1/3 

Input interpretation: 

 
Open code 

 
 

  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 
2*((((((((24*3 + ((((((((1.054571726*10^-34) * (3*10^8)^3))) / ((((8Pi * 
6.67408*10^-11 * 13.12806*10^39 * 1.380649*10^-23)))))))*(((Pi(Pi+ln(12))) * 
10^19))))))))^1/3 

Input interpretation: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 
((((((((24*3 + ((((((((1.054571726*10^-34) * (3*10^8)^3))) / ((((8Pi * 6.67408*10^-
11 * 13.12806*10^39 * 1.380649*10^-23)))))))*(((Pi(Pi+ln(12))) * 
10^19))))))))^1/15 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
1.6437161856103091607910999662475235481706517783810713 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From: 

Particle Creation by Black Holes 
S. W. Hawking 
Department of Applied Mathematics and Theoretical Physics, University of 
Cambridge, Cambridge, England 
Received April 12, 1975 

2 Note 

                                                           
2 Note in Italian: All'aumentare della temperatura, si supererebbe la massa residua di particelle come 
l'elettrone e il muone e il buco nero inizierebbe ad emetterli anche. Quando la temperatura è salita a circa 
10^12 ° K o quando la massa è scesa a circa 10^14 g il numero di diverse specie di particelle emesse 
potrebbe essere così grande che il buco nero irradia via tutta la sua massa a riposo rimanente su una forte 
scala temporale di interazione dell'ordine di 10^-23 s. Ciò produrrebbe un'esplosione con un'energia di 10^35 
erg 



67 
 

 

 

 

 

We have: 

 

and the particles contained in each wave-packet mode of high value of quantum 
number l, are: 

 

With the our values, where  a = J/M and  

        

and  ω = Ω =
௔

ఈ
=

௃

ெ
∙

ଵ

ఈ
 



68 
 

 

thence: 

1 / exp(2ℼ * (J/M * 1/α) * 1/(1/4M) – 1) 

remember that: 

 

We obtain: 

1/ ((((exp(((((((((2Pi * (0.9/13.12806*10^39) * 1/(6.8938278721*10^80) * 
4*(13.12806*10^39)))))))))) - 1)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

Decimal approximation: 

 More digits 

 
3.047741062970548 × 1079  

(((3.04774106297054838149866381067383501125196657352 × 10^79)))^(Pi/1140) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Or: 
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(((3.04774106297054838149866381067383501125196657352 × 10^79)))^(Pi/(34^2-
16)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.655924752163... 

We note that, the result 1,655924... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହ √ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

        ⇒  

        =  1,655924 

And:  

(((3.04774106297054838149866381067383501125196657352 × 
10^79)))^((Pi/(34^2+21+13+5)) 

Input interpretation: 

 
Open code 

 
 

 Units »  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6179281506203672598152036020629183817177756921349 

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
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Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From the following formula, concerning the particles contained in each wave-packet 
mode of high value of quantum number l: 

 

 

that is equal to 3.04774106297054838149866381067383501125196657352 × 1079 

we can to obtain very interesting mathematical connections with the following 
formula: 

From: 
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UNEARTHING THE VISIONS OF A MASTER: HARMONIC MAASS FORMS AND 
NUMBER THEORY 
KEN ONO 

 

Partition number p(n) for n = 5046; p(5046)  from OEIS is: 

3,8685436234477791770474674590313143573886331896398541703329035537709
5128484 

From Ramanujan formula for p(5046), we obtain: 

(((1/(4*5046*sqrt(3))) * exp((((Pi*((((sqrt(((2*5046)/3))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Now, from the previous result of p(5046) 

 

3.8927871496803691534559901688545454305815654571794088966578688910835
8247462 × 1074 

after some calculations,  we obtain: 

(((((196884*1/(ln(4)/ln(3)*2))))))[(((1/(4*5046*sqrt(3)))* 
exp((((Pi*((((sqrt(((2*5046)/3)))))] 

Thence, multiplying  

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

3.0368971380696910100645999497040251010799179715079078 × 1079 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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This result 3.036897138... × 1079 is a good approximation to the value of the 
particles’ number contained in each wave-packet mode. 

 

For n = 5697 from OEIS 

p(5697) = 
3.0538723337391660587957188453906776444982487452257640926684434740142
157911918583 * 1079 

From the Ramanujan formula, we obtain: 

(((1/(4*5697*sqrt(3))) * exp((((Pi*((((sqrt(((2*5697)/3))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

 

 

3.0718793263020345822883525238695115274200010311387072960591001602738
106584801565 * 1079  

This value is a good approximation to the particles’ number contained in each wave-
packet mode of high value of quantum number l 

From the following coefficient formula, that is linked to the partition formula 

 

 

for n = 5697, we obtain: 

(((((((exp(pi*sqrt(5697/6-1/144)))))))/(((((((((((2*sqrt(5697-1/24))))))))))))      +       
(((((((exp(pi/2*sqrt(5697/6-1/144))))/(((sqrt(5697-1/24))))))))))))))) 

Input: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
 
Property: 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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From the formula of property 

 

after some calculations, we obtain: 

((((((2 sqrt(6/136727) e^((sqrt(136727) π)/24) + sqrt(6/136727) e^((sqrt(136727) 
π)/12)))))))^(((Pi^(3/5))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 

This value 1,675849 * 1079 is a multiple that is in the range of the golden ratio value. 
It can be defined a golden number. 
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Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Integral representation: 

 
 

And: 

1.2108/2.05 ((((((2 sqrt(6/136727) e^((sqrt(136727) π)/24) + sqrt(6/136727) 
e^((sqrt(136727) π)/12)))))))^2 

Where 1,2108 and 2,05 are Hausdorff dimensions 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 
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This result is a good approximation to the particles’ number contained in each wave-
packet mode of high value of quantum number l and to the value of 𝜋 (multiple) 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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Note that, multiplying by 2 this expression, we obtain: 

2*1.2108/2.05 ((((((2 sqrt(6/136727) e^((sqrt(136727) π)/24) + sqrt(6/136727) 
e^((sqrt(136727) π)/12)))))))^2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 



83 
 

This result is very near to the value of length of a circle with radius equal to 1: 2𝜋 
(multiple) 

Series representations: 

 
 
 
Enlarge Data Customize A Plaintext Interactive  
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  

  

  

  

  

  
 More information 

We have  

 

Where a = J/M 
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From the formula of temperature and  

 

that is the surface gravity, from our calculations, we obtain: 

((((2.62561*10^40)/(4*6.8938278721*10^80)))) / (2Pi)  

Input interpretation: 

 
Open code 

 
 

 Units »  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

From which: 

1/  ((((((((10^3 (((((((((((2.62561*10^40)/(4*6.8938278721*10^80)))) / 
(2Pi))))))))^1/13)))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
1.6477158283216220606108224071415601414977900114636670 

(3^3*2^3) + ((((2.62561*10^40)/(4*6.8938278721*10^80)))) / (2Pi) * 10^45 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 
(((((((((3^3*2^3) + ((((2.62561*10^40)/(4*6.8938278721*10^80)))) / (2Pi) * 
10^45))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 
2*(((((((((3^3*2^3) + ((((2.62561*10^40)/(4*6.8938278721*10^80)))) / (2Pi) * 
10^45))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 
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(((((((((3^3*2^3) + ((((2.62561*10^40)/(4*6.8938278721*10^80)))) / (2Pi) * 
10^45))))))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6439678304095125067795096413127798499015244293562323 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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1/2((((((((((3^3*2^3) + ((((2.62561*10^40)/(4*6.8938278721*10^80)))) / (2Pi) * 
10^45))))))))^1/15 +  (((((((((3^3*2^3)   +   
((((2.62561*10^40)/(4*6.8938278721*10^80)))) / (2Pi) * 10^45))))))))^1/16 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6188218240112017519223561068931853573363010353236010 

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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Now, for: 

 

And 

 

We obtain, from (2.29): 

gamma (1/12)  1/(((((((((((exp(((((((((2Pi * (0.9/13.12806*10^39) * 
1/(6.8938278721*10^80) * 4*(13.12806*10^39)))))))))) - 1)))))))))))))))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

Decimal approximation: 

 More digits 

 
 

Now, from the extended result, we obtain: 



91 
 

11*33021.10 * (3.50472794833786293306830406830717699438350879312 × 
10^80)^1.2108 

Where 33021,10 is a result of a Ramanujan Mock Theta Function, and 1,2108 is the 
following Hausdorff dimension: 

 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is practically equal to the value of SMBHs entropy contained within the 
cosmic event horizon 1,2 * 10103 

Now, we have also: 

((33021.10 * (54+3/10)) * gamma (1/12)  1/(((((((((((exp(((((((((2Pi * 
(0.9/13.12806*10^39) * 1/(6.8938278721*10^80) * 4*(13.12806*10^39)))))))))) - 
1)))))))))))))))) 

Where 33021,10 is a result of a Ramanujan Mock Theta Function (see next pages) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

Decimal approximation: 

 More digits 
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This result is practically equal to the value of Dark Matter entropy 6 * 1086 contained 
within the cosmic event horizon, moreover this value is a multiple very near to the 
length of a circle with radius equal to 1: 2𝜋 
 
Now, we have also: 
 
(3.50472794833786293306830406830717699438350879312 × 
10^80)^1/((1210/Pi))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6185373378340964878000106955922150084109437442140 
 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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And: 
 
(89+55-34)+10^3 * (3.5047279483378 × 10^80)^1/((1210/Pi))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 
(((((89+55-34)+10^3 * (3.5047279483378 × 10^80)^1/((1210/Pi)))))))^1/3 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 
 
2 * (((((89+55-34)+10^3 * (3.5047279483378 × 10^80)^1/((1210/Pi)))))))^1/3 
 
Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 
(((((89+55-34)+10^3 * (3.5047279483378 × 10^80)^1/((1210/Pi)))))))^1/15 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6437859005782310620161084756021656195303526362348984  
 
Continued fraction: 

 Linear form 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 
 
Now: 

 
 

 

 

 

 
 
 
We obtain the following interesting expressions: 
 
(((((((1/Pi*2*13.12806*10^39 * (1/12)^-(0.5) * gamma * -(((1-
(1/3*13.12806*10^39))))*  [((((1/4)^(-0.5) * (1/12)^(-0.5))))] 
 
Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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5.06651490483870625376915385921863068937691519072 × 1080 
 
 
(((((sin ((((1/8 *((((4*13.12806* (((((((((ln 1/12 - (8pi/5))))))))))  * 
((((((((1/(((((((4*13.12806* ((((ln 1/12 - (8pi/5)))))))) 
 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
0.1246747333852276899574427087121084675878349056416792 
 
That is: 
 
(((((sin ((((1/8 *((((4*13.12806*10^39* (((((((((ln 1/12 - (8pi/5))))))))))  * 
((((((((1/(((((((4*13.12806*10^39* ((((ln 1/12 - (8pi/5)))))))) 
 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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Integral representations: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 
 
0.1246747333852276899574427*(((((((1/Pi*2*13.12806*10^39 * (1/12)^-(0.5) * 
gamma * -(((1-(1/3*13.12806*10^39))))*  [((((1/4)^(-0.5) * (1/12)^(-0.5))))] 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
6.31666394953047943180066939002355030611521131666 × 1079 

(6.3166639495304794318 × 10^79)^1/((32^2+24*5)/Pi)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
1.656318695628409142159 

 

We note that, the result 1,656318... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହା √ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                       ⇒   

                       = 1.656318 

 

24*3 + 10^3 * (6.3166639495304794318 × 10^79)^1/((32^2+24*5)/Pi)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 
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(((((24*3 + 10^3 * (6.3166639495304794318 × 10^79)^1/((32^2+24*5)/Pi)))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 
2 * (((((24*3 + 10^3 * (6.3166639495304794318 × 
10^79)^1/((32^2+24*5)/Pi)))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 
(((((24*3 + 10^3 * (6.3166639495304794318 × 10^79)^1/((32^2+24*5)/Pi)))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6437720382919401759948 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

(6.3166639495304794318 × 10^79)^1/(1200/Pi) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.617771530518557825041 

This result is a very good approximation to the value of golden ratio 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

Now, we know that the electron velocity in the ground state is:  

2,188745451993 * 106 

and that: 

 

From: 

        Black Holes 
        MSc in Quantum Fields and Fundamental Forces - Academic Year 2014/15 
        Fay Dowker 
        Blackett Laboratory, Imperial College, London, SW7 2AZ, - U.K. 
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and: 
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We have that for:  r = 2.62561 × 10^40;  ω = 6.62606957 * 10-34;  κ = 1 / 4M;  
𝑃ఠ

ି = 𝑃ఠ(2𝑀) = 2𝑀(as a radial coordinate r);  CD = 1 and v0 – v = v; we obtain, 
from (2.18): 

(2Pi)^(-0.5) * (6.62606957 * 10^-34)^(-0.5) * 1/(2.62561*10^40) * 
(2*13.12806*10^39)* exp(((((((((-6.62606957 * 10^-34i)*((4*13.12806*10^39))) * 
ln(2.188745451993 * 10^6)))))))))))) 

Input interpretation: 
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Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

 

(((((((2Pi)^(-0.5) * (6.62606957 * 10^-34)^(-0.5) * 1/(2.62561*10^40) * 
(2*13.12806*10^39)* exp(((((((((-6.62606957 * 10^-34i)*((4*13.12806*10^39))) * 
ln(2.188745451993 * 10^6))))))))))))^1/5 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
 
1730.04 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 
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Possible closed forms: 

 More 

 
 

 
 

 
  

  

 

(((((((2Pi)^(-0.5) * (6.62606957 * 10^-34)^(-0.5) * 1/(2.62561*10^40) * 
(2*13.12806*10^39)* exp(((((((((-6.62606957 * 10^-34i)*((4*13.12806*10^39))) * 
ln(2.188745451993 * 10^6)))))))))^1/5))))))))^1/3 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

12.0047 

This result is very near to the value of black hole entropy 12,1904 

2((((((2Pi)^(-0.5) * (6.62606957 * 10^-34)^(-0.5) * 1/(2.62561*10^40) * 
(2*13.12806*10^39)* exp(((((((((-6.62606957 * 10^-34i)*((4*13.12806*10^39))) * 
ln(2.188745451993 * 10^6)))))))))^1/5))))))))^1/3 

Input interpretation: 

 
Open code 
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  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

24.0094 

This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

((((((2Pi)^(-0.5) * (6.62606957 * 10^-34)^(-0.5) * 1/(2.62561*10^40) * 
(2*13.12806*10^39)* exp((((((((-6.62606957 * 10^-34i)*((4*13.12806*10^39))) * 
ln(2.188745451993 * 10^6)))))))))^1/5))))))))^1/15 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Polar coordinates: 

 
Open code 

1.64388 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From this last formula, with the third closed form, we can to obtain also a very good 
approximation to 𝜋. Indeed, we have: 

(4sqrt(5/3) / [(((((2Pi)^(-0.5) * (6.626069 * 10^-34)^(-0.5) * 1/(2.62561*10^40) * 
(2*13.12806*10^39)* exp(((((-6.626069 * 10^-34i)*((4*13.12806*10^39))) * 
ln(2.1887454519 * 10^6))))))^1/5)))))^1/15)] 

 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
Open code 

 
 
Polar coordinates: 

 
 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 
 

 

 
 
 
This result 3.14133... is a very good approximation to 𝜋.  

Now, from: 

Charged and rotating AdS black holes and their CFT duals 
S.W. Hawking and H.S. Reall† - https://arxiv.org/abs/hep-th/9908109v2 

We have: 
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We have also: 

 

 

From (2.38) we obtain, for β = 0.58; Ω = 0.6371/6: 

(((((16* 1/(((0.58*(1-(((0.637)^1/6))^2))))))  sum  1 / (k^2 sinh(0.58/2k)), k = 1 to 
infinity 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
792.136 

From (2.34), we obtain: 

sum 1/((ksinh(0.58k((1-0.637^(1/6))/2))sinh(0.58k((1+0.637^(1/6))/2))))), k = 1 to 
infinity 

Infinite sum: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Convergence tests: 

 
 

sum (cosh(0.58/2k), k = 1 to infinity 
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Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

Convergence tests: 

 
Partial sum formula: 

 
 

0.5(6.87244 sinh(0.29(n+0.5))-1) 

Input interpretation: 

 
 

Values: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  
Alternate forms: 

 More 

 
Open code 

 
 

 
Open code 

 
 

 
Open code 

 

Real root: 

 Step-by-step solution  

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Roots: 

 Approximate forms 

 Step-by-step solution  
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Open code 

 
 

 
  

Periodicity: 

 Approximate form 

 

Open code 

 
Enlarge Data Customize A Plaintext Interactive  

Series expansion at n = 0: 

 

Open code 

 Big‐O notation 
Series expansion at n = ∞: 

 
Open code 

 

Derivative: 

 Step-by-step solution  

 
Open code 

 
  

Enlarge Data Customize A Plaintext Interactive  
Indefinite integral: 

 
 

For n = 4, we obtain: 

8 * 5.36995 * sum 1/((ksinh(0.58k((1-
0.637^(1/6))/2))sinh(0.58k((1+0.637^(1/6))/2))))), k = 1 to infinity 

Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
 

5.36995 * sum 1/((ksinh(0.58k((1-0.637^(1/6))/2))sinh(0.58k((1+0.637^(1/6))/2))))), 
k = 1 to infinity 
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Input interpretation: 

 
  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 
497.828  

From Ramanujan formula for p(20.56) ≈ 21, we obtain: 

(((1/(4*20.56*sqrt(3))) * exp((((Pi*((((sqrt(((2*20.56)/3))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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From Ramanujan formula for p(18.56) ≈ 19, we obtain: 

(((1/(4*18.56*sqrt(3))) * exp((((Pi*((((sqrt(((2*18.56)/3))))) 

Input: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

We note that the two results, concerning the partition functions (eqs. 2.34 and 2.38) 

792,136 and 497,828 are very closed to the two results regarding the Hardy-
Ramanujan partition formula for p(19) and p(21), i.e., 789,988 and 489,889. We note 
that for to obtain the above results, n is equal to 18,56 and 20,56, that are good 
approximations to the numbers 19 and 21.  
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Now, we observe that, for c = 24 and c = 48, the (holomorphic) partition functions 
read  

 

where j(τ ) is the modular j-function and q = e2πiτ . The partition function in (1.5) 
defines a very special theory among the 71 holomorphic CFTs believed to exist at c = 
24. Note that: 
 
ln(864299970) = 20,577430454012695912396758411399, a value very near to 20.56, 
utilized for the calculation of p(21). 
 
While, for 18.56, we note that: 
 
(((ln(302198519÷2) + ln(86645620))) / 2 = 18,555392263251482338584975642891,  
 
where 302198519 and 86645620 are values concerning some coefficients of Z(τ) 
modular j-invariant (or modular j-function). 
 
Note that, 497,828 and 792,136 are very near to the rest mass of the Kaon meson, that 
is equal to 497.614±0.024, and to the rest mass of the Omega meson, that is equal to 
782.65±0.12 and to the scalar meson K∗0(700) Breit-Wigner Mass, that is 824 ±30 
(lower value 794) OUR AVERAGE, or 797 ±19 (i.e. 797) 
 

Now, we have: 

 

Notable examples are d = 4, N = 4 supersymmetric Yang–Mills theory, which is dual 
to Type IIB string theory on AdS5 × S5 . In our case we take N = 4.  

For N = 4, G5 = Pi / 32;  Φ = 1 and r+ = 2.62561 * 1040 
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We obtain, from (3.11) with minus sign: 

-Pi/(8*Pi / 32) * 0.58 * (((((((2.62561*10^40)^2*(((1-(2.62561*10^40))))^2-
(2.62561*10^40)^4))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Scientific notation: 

 More digits 

 
 

-Pi/(8*Pi / 32) * 0.58 * (((((((2.62561*10^40)^2*(((1-(2.62561*10^40))))^2-
(2.62561*10^40)^4)))))))*Pi 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is practically equal to the value of total entropy of Cosmic Event Horizon 

Calculating the square root, we also obtain: 

((((((-Pi/(8*Pi / 32) * 0.58 * (((((((2.62561*10^40)^2*(((1-(2.62561*10^40))))^2-
(2.62561*10^40)^4)))))))*Pi)))))))^1/2 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is an evident multiple of a golden number in the range of golden ratio 
value. 

Note that, from this formula, we can to obtain also the size of the Monster Group. 
Indeed: 

1/(2*10^7) * ((((((-Pi/(8*Pi / 32) * 0.58 * (((((((2.62561*10^40)^2*(((1-
(2.62561*10^40))))^2-(2.62561*10^40)^4)))))))*Pi)))))))^1/2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Comparisons: 

 
 

And: 

((((((((((((((-Pi/(8*Pi / 32) * 0.58 * (((((((2.62561*10^40)^2*(((1-
(2.62561*10^40))))^2-(2.62561*10^40)^4)))))))*Pi)))))))^1/2))))))))^1/12 * 
((12^2+12)/(10^2)) + 89 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 



117 
 

This result 196884 is a term that is part of the fundamental Fourier expansion of the 
normalized J-invariant: 

 

 

From the inverse formula of (3,11), we can to obtain: 

-(8.3986335772587191839999999999999999999998400631933672 × 10^121 *  
0.78539816339744830961566084581988) /  (((((((0.58 * 
(((((((2.62561*10^40)^2*(((1-(2.62561*10^40))))^2-(2.62561*10^40)^4))))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

3.141592653589793238462643383279519999999999999999999970075 

Continued fraction: 

 Linear form 

 
Open code 



118 
 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 
 

 
  

 

Furthermore, we have also: 

2 * -(8.398633577258719 × 10^121 *  0.785398163397448) /  (((((((0.58 * 
(((((((2.62561*10^40)^2*(((1-(2.62561*10^40))))^2-(2.62561*10^40)^4))))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
  

Decimal approximation: 

 More digits 

 
Open code 

6.283185307179583862345929741300617850685210095286003752250 

Continued fraction: 

 Linear form 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

Or: 

Input interpretation: 

 
Open code 

6.283185307179583 

Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
  

This result is equal to the length of a circle with radius equal to 1: 2𝜋 

This last result, which concerns the action of a Reissner-Nordstrom-AdS black hole 
in G5, reinforces the vision that the imprint of very different, perhaps all, the 
structures of the cosmos (black holes, stars, galaxies, planets. ..) is the circumference. 
Furthermore, from the equations that we have developed, we always find solutions 
with values equal to golden numbers or, just, to the golden ratio. This allows us to 
predict in an ever more convincing way, that the universe is the product of the infinite 
ways in which 𝜋 and 𝜙 are manifested and concretized in the marvelous varieties of 
which the multiverse is studded. 

 

Now, from (3.12): 
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We obtain: 

(2Pi*2.62561*10^40) / (((1-(2.62561*10^40)^2+2*(2.62561*10^40)^2)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

(((((1/(((((2Pi*2.62561*10^40) / (((1-
(2.62561*10^40)^2+2*(2.62561*10^40)^2)))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.61070787915611467418868370935457842971192659951 × 1013 

(((((1/(((((2Pi*2.62561*10^40) / (((1-
(2.62561*10^40)^2+2*(2.62561*10^40)^2)))))))))^1/3  * 1/10^10 + 27*4 + 8 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
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Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

(((((((((((1/(((((2Pi*2.62561*10^40) / (((1-
(2.62561*10^40)^2+2*(2.62561*10^40)^2)))))))))^1/3  * 1/10^10 + 27*4 + 
8))))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 
 

2*(((((((((((1/(((((2Pi*2.62561*10^40) / (((1-
(2.62561*10^40)^2+2*(2.62561*10^40)^2)))))))))^1/3  * 1/10^10 + 27*4 + 
8))))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 
(((((((((((1/(((((2Pi*2.62561*10^40) / (((1-
(2.62561*10^40)^2+2*(2.62561*10^40)^2)))))))))^1/3  * 1/10^10 + 27*4 + 
8))))))))))^1/15 

Input interpretation: 



122 
 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6436698593201775184370905942380553537770573566928803 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

Now: 
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with the previous calculated value of β from eq. (3.12), we obtain, from the eq. 
(3.11): 

-Pi/(8*Pi / 32) * (2.39304*10^-40) * (((((((2.62561*10^40)^2*(((1-
(2.62561*10^40))))^2-(2.62561*10^40)^4))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Scientific notation: 

 
 

((((((-Pi/(8*Pi / 32) * (2.39304*10^-40) * (((((((2.62561*10^40)^2*(((1-
(2.62561*10^40))))^2-(2.62561*10^40)^4)))))))))))))^1/(288+89) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6555346598030653148658012293835581803156770254274898 

We note that, the result 1,65553... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  
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               ⇒  

               = 1,65553... 

 

((((((-Pi/(8*Pi / 32) * (2.39304*10^-40) * (((((((2.62561*10^40)^2*(((1-
(2.62561*10^40))))^2-(2.62561*10^40)^4)))))))))))))^((Pi/(6^4-55))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6178915424581135297499579570343467903228249097902158 

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
 

27*4 + 10^3((((((-Pi/(8*Pi / 32) * (2.39304*10^-40) * (((((((2.62561*10^40)^2*(((1-
(2.62561*10^40))))^2-(2.62561*10^40)^4)))))))))))))^(Pi/(6^4-55))) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

[((((((((((27*4 + 10^3((((((-Pi/(8*Pi / 32) * (2.39304*10^-40) * 
(((((((2.62561*10^40)^2*(((1-(2.62561*10^40))))^2-
(2.62561*10^40)^4))))))))^(Pi/(6^4-55))))))))))]^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 
2*[((((((((((27*4 + 10^3((((((-Pi/(8*Pi / 32) * (2.39304*10^-40) * 
(((((((2.62561*10^40)^2*(((1-(2.62561*10^40))))^2-
(2.62561*10^40)^4))))))))^(Pi/(6^4-55))))))))))]^1/3 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

[((((((((((27*4 + 10^3((((((-Pi/(8*Pi / 32) * (2.39304*10^-40) * 
(((((((2.62561*10^40)^2*(((1-(2.62561*10^40))))^2-
(2.62561*10^40)^4))))))))^(Pi/(6^4-55))))))))))]^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6436180426361211068554102613420209138510778943728502 

Continued fraction: 

 Linear form 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

From: 

Entropia e Termodinamica dei Buchi Neri 
Candidato: FRANCESCO BATTISTEL Relatore: Prof. STEFANO ANSOLDI 
Anno Accademico 2014/2015 - UNIVERSITÀ DEGLI STUDI DI TRIESTE CORSO DI 
STUDI IN FISICA 
 
Important and useful note in Italian 
 
“..... 

…..” 
 
We have: 
 



128 
 

 
 
we can to obtain Q and Q2  
 
We have also: 
 

 
and: 
 

 
 

 
 

From the above formulas, we obtain, after some calculations, various interesting 
results. 

For Q, we obtain: 

sqrt(((((13.12806*10^39)^2 - (0.9/13.12806*10^39)^2 - (2.62561*10^40 - 
13.12806*10^39)^2)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

For Q2, we obtain: 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

For α, we obtain: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 
Scientific notation: 

 
 

For 𝜙, we obtain: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

From this formula, concerning the “electric potential”, we obtain: 

(((((((((2.29155*10^37 * 2.62561*10^40))) / (((6.8938278721*10^80)))))))))^1/14 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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And: 

1/(((((((((2.29155*10^37 * 2.62561*10^40))) / (((6.8938278721*10^80)))))))))^1/14 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6538922255708955505808991707450037693101067115977020 

We note that, the result 1,653892... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                      ⇒    

                      = 1,653892... 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 
 

  

 

1+(((((((((2.29155*10^37 * 2.62561*10^40))) / (((6.8938278721*10^80)))))))))^1/16 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6438818674889841177750602517568866101168218651016596 

Now, from the square root of Q and some calculations, we obtain: 

((((((((sqrt(((((13.12806*10^39)^2 - (0.9/13.12806*10^39)^2 - (2.62561*10^40 - 
13.12806*10^39)^2))))))))))))^1/(27*4+24*3) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6127099980119435462814538116273902369780912511152745 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From Q2, after the following exponentiation, we obtain: 

((((((((((13.12806*10^39)^2 - (0.9/13.12806*10^39)^2 - (2.62561*10^40 - 
13.12806*10^39)^2)))))))^1/(144*2+24*3) 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6127099980119435462814538116273902369780912511152745 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From α, after some calculations, we obtain: 

(((((((((2*13.12806*10^39 * 2.62561*10^40))) - 
(((5.25122*10^74)))))))))))^1/(144*2+24*4+3) 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6176512984897950229013766514882799881268504930945160 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

This result 1,61765... is a very good approximation to the golden ratio 
1,6180339887... 

Now, from the formula of “surface gravity”, we obtain: 

(2.62561*10^40)/(4*6.8938278721*10^80) 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 

And, after some calculations, the following interesting result: 

1/2 * ((((2.62561*10^40)/(4*6.8938278721*10^80))))^-0.5 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.62037341375375571174958926797846383053187100607 × 1020 

And: 

((((((1/((((2.62561*10^40)/(4*6.8938278721*10^80))))))))))^1/(24*8) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6355075495160177079756918425758333248467466553534711 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

 

 

From: 

EVOLUTION OF NEAR-EXTREMAL BLACK HOLES 
S.W. Hawking and M. M. Taylor-Robinson † 
Department of Applied Mathematics and Theoretical Physics, 
University of Cambridge, Silver St., Cambridge. CB3 9EW 
(February 1, 2008) 

 

We have: 
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We remember that: 

 

From Wikipedia: 
 
The Schwarzschild radius (sometimes historically referred to as the gravitational 
radius) is a physical parameter that shows up in the Schwarzschild solution to 
Einstein's field equations, corresponding to the radius defining the event horizon of a 
Schwarzschild black hole. It is a characteristic radius associated with every quantity 
of mass. The Schwarzschild radius was named after the German astronomer Karl 
Schwarzschild, who calculated this exact solution for the theory of general relativity 
in 1916.  

The Schwarzschild radius is given as  

 

where G is the gravitational constant, M is the object mass, and c is the speed of 
light. 

Object  Mass: M  Schwarzschild radius:  Schwarzschild density:  

SMBH in Messier 87[9]  1.3×1040 kg  1.9×1013 m  0.44 kg/m3 
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(the mass of SMBH87 is 13.12806 * 1039 or 1.312806 * 1040) 

 

From (48),  for μ = 1/12, we have: 

1/12 * 1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

Now, we obtain the Schwarzschild radius: 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result coincide with the official calculated value 1,9 * 1013 m of SMBH87 

(((((2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^1/11 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 
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1.6147350085943156705592910519697862580037293692275889 *10 

This result is a multiple that is a good approximation to the value of the golden ratio 
1,618033988749 

That is: 

Result: 

 
From the following formula of  the Schwarzschild radius, we obtain a very good 
approximation to 𝜋: 

1/3 * (((((((((((2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^1/24 + 
(((((2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^1/26+ (((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))^1/32))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

And to the value of a circle length with radius equal to 1: 

2/3 * (((((((((((2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^1/24 + 
(((((2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^1/26+ (((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))^1/32))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 Fewer digits 

 More digits 

 
 

Now, we obtain, from this formula, also a good approximation to the golden ratio and 
to the Planck length  1.616255(18)×10−35m without exponent. Indeed: 

1/6 * (((((((((((2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^1/24 + 
(((((2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^1/26+ (((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))^1/29))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6158821050925485374334521749652143334856116530997156 

Continued fraction: 

 Linear form 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
From eq. (48), we also obtain: 

1/2 * (((((((1/((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16))))))))))^1/29 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6276894769869621034291071243833882474514439309776642 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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Furthermore, from the same formula, we obtain a good approximation to 𝜋: 

1/2 * (((((((1/((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16))))))))))^1/29 + (((((((1/((((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16))))))))))^1/31 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
3.1360337821969376808060159734501313579757825587135379 

From eq. (60), we obtain the total rate of emission: 

(Pi^2/120 )* 4Pi*(1.9458702266666666666666666666666666666666666666666666 
× 10^13)^2 * (1.36319*10^-15)^4 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.3513930334618052716401160352478102163566379033 × 10-33 

The Ah is given by: 
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4Pi*(1.9458702266666666666666666666666666666666666666666666 × 10^13)^2 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
4.7581443158086875924687879269539 * 1027 

From eq. (8): 

 

We obtain: 

(4.758144315808687592468787929539135845 * 10^27) / ((4*(Pi/32)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

And: 

(((((((4.758144315808687592468787929539135845 * 10^27) / 
((4*(Pi/32)))))))^1/128 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
1.65730098498572735175727093310907637885 

And: 

(((((((4.758144315808687592468787929539135845 * 10^27) / 
((4*(Pi/32)))))))^0.0072973525693 

Where 0,007297... is the fine-structure constant 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

In conclusion, from 1/134,3775 as exponent, where the denominator is a very good 

approximation to the rest mass of the π
0
: 134.9766(6) MeV/c2  

(((((((4.758144315808687592468787929539135845 * 10^27) / 
((4*(Pi/32)))))))^1/134.3775 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6180379007097542429308456816311174385896266069616154 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

With the exact value of mass of 𝜋଴, i.e. 134.9766, we obtain: 

(((((((4.758144315808687592468787929539135845 * 10^27) / 
((4*(Pi/32)))))))^1/134.9766 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 
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 More digits 

 
 

Furthermore, with the mean of the two Pion masses 134.9766 and 139.57018, we 
obtain: 

1/2(((((((((((((4.758144315808687592 * 10^27) / ((4*(Pi/32)))))))^1/134.9766 + 
(((((((4.758144315808687592 * 10^27) / ((4*(Pi/32)))))))^1/139.57018))))))))))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 
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This result 1,601956 is very near to the value of electric charge of positron. 

 

From eq. (61), we obtain total emission rate of light charged particles: 

Note that: 

 

Thence m = 0.0416666..../ re μK  where 0.04166666... = 1/24 

zeta (3) / (2*Pi^2)  4Pi*(1.945870226666 × 10^13)^2 * 
((((0.041666/(((1.945870226666 × 10^13*(1/12))))) * [((((1.36319 × 10^-15)^3))))] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

And we obtain a golden number, after some calculations. Indeed: 

sqrt(55+21) *  zeta (3) / (2*Pi^2)  4Pi*(1.945870226666 × 10^13)^2 * 
((((0.041666/(((1.945870226666 × 10^13*(1/12))))) * [((((1.36319 × 10^-15)^3))))] 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6442128927180006344634436695539529754977765021 × 10-31 

Or: 

1/pi(((((((zeta (3) / (2*Pi^2)  4Pi*(1.945870226666 × 10^13)^2 * 
((((0.041666/(((1.945870226666 × 10^13*(1/12))))) * [((((1.36319 × 10^-
15)^3))))]))))))))))^1/6 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.64226033198153722077252830309014384367117224610 × 10-6 

And: 

1/(((((((((((((((zeta (3) / (2*Pi^2)  4Pi*(1.945870226666 × 10^13)^2 * 
((((0.041666/(((1.945870226666 × 10^13*(1/12))))) * [((((1.36319 × 10^-
15)^3))))]))))))))))^1/(89+55+8))))))))))))))))) 

Input interpretation: 

 
Open code 
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  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6170128777274296973652434374238360595427232778860697 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

This result is a very good approximation to the value of the golden ratio 
1,618033988749 

 

2.02 * sqrt(55+13) *  zeta (3) / (2*Pi^2)  4Pi*(1.945870226666 × 10^13)^2 * 
((((0.041666/(((1.945870226666 × 10^13*(1/12))))) * [((((1.36319 × 10^-15)^3))))] 
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Where 2.02 is a Hausdorff dimension 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
3.1416447826127819571929552797586422793218400287 × 10-31 

Or: 

tan(pi^3/27) * sqrt(24+32) *  zeta (3) / (2*Pi^2)  4Pi*(1.945870226666 × 10^13)^2 * 
((((0.041666/(((1.945870226666 × 10^13*(1/12))))) * [((((1.36319 × 10^-15)^3))))] 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
3.1400858023149057147399878920763356266065256769 × 10-31 

2 * tan(pi^3/27) * sqrt(24+32) *  zeta (3) / (2*Pi^2)  4Pi*(1.945870226666 × 
10^13)^2 * ((((0.041666/(((1.945870226666 × 10^13*(1/12))))) * [((((1.36319 × 
10^-15)^3))))] 

Input interpretation: 

 
Open code 

 
 

  
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
6.2801716046298114294799757841526712532130513538 × 10-31 

Results that are very good approximations to the sub-multiple of 𝜋 and of the length 
of a circle with radius equal to 1: 2𝜋 

From the ratio of (61) and (60), we obtain: 

((((1.8860415371116967863093997773516420550064110429 × 10^-32))) / 
((((((Pi^2/120 )* 4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-15)^4))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
Note that: 

10*((((1.8860415371116967863093997773516420550064110429 × 10^-32))) / 
((((((Pi^2/120 )* 4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-15)^4))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
139.563... 

This result is practically equal to the rest mass of Pion meson 139.57018±0.00035 

 Moreover, we obtain: 

1/2 * (((((((((39/(8Pi)) + 
(((((((((1.8860415371116967863093997773516420550064110429 × 10^-32))) / 
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((((((Pi^2/120 )* 4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-
15)^4))))))))))^1/5))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6229593564808424753251715522399799741315789064982773 

Possible closed forms: 

 More 

 
Enlarge Data Customize A Plaintext Interactive  

 

 
 

3/10*((sqrt(27/4))^2 * 
(((((((((1.8860415371116967863093997773516420550064110429 × 10^-32))) / 
((((((Pi^2/120 )* 4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-
15)^4))))))))))^1/6))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
3.1420996700952622733900391198920800646736102131201127 

3/5*((sqrt(27/4))^2 * 
(((((((((1.8860415371116967863093997773516420550064110429 × 10^-32))) / 
((((((Pi^2/120 )* 4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-
15)^4))))))))))^1/6))))) 
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Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
6.2841993401905245467800782397841601293472204262402255 

Results that are very good approximations to the values of the golden ratio, of 𝜋 and 
of the length of a circle with radius equal to 1: 2𝜋 

In conclusion, we obtain the following result: 

(288+21*2) + 10^2*((((1.8860415371116967863093997773516420550064110429 × 
10^-32))) / ((((((Pi^2/120 )* 4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-
15)^4)))))  

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729. 

(((((((288+21*2) + 10^2*((((1.8860415371116967863 × 10^-32))) / ((((((Pi^2/120 )* 
4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-15)^4)))))))))))^1/3 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is very near to the value of black hole entropy 12,1904 

 

2*(((((((288+21*2) + 10^2*((((1.8860415371116967863 × 10^-32))) / ((((((Pi^2/120 
)* 4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-15)^4)))))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 

(((((((288+21*2) + 10^2*((((1.8860415371116967863 × 10^-32))) / ((((((Pi^2/120 )* 
4Pi*(1.94587022666666 × 10^13)^2 * (1.36319*10^-15)^4)))))))))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6436012897810223553622568477808046257383725429063236 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

Now: 

 

 

(Pi^3/60) * (4.7581443158086875924 * 10^27) * ((((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))))))^4 * 576/(1.945870226666 × 10^13) * 
exp(((-Pi * sqrt(576))) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
4.52098 × 10-76 

(((((((Pi^3/60) * (4.758144315808687 * 10^27) * ((((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))))))^4 * 576/(1.94587022666 × 10^13) * 
exp(((-Pi * sqrt(576)))))))))^(5/(52pi)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6179516718554285368705605644020697765687660342811459 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

And: 

(((((((Pi^3/60) * (4.758144315808687 * 10^27) * ((((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))))))^4 * 576/(1.94587022666 × 10^13) * 
exp(((-Pi * sqrt(576)))))))))^(19/(60Pi^2) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6559937663877311008147080528687917079947550415381149 

We note that, the result 1,655993... is practically equal to the 14th root of the 

following Ramanujan’s class invariant 𝑄 = ൫𝐺ହ଴ହ/𝐺ଵ଴ଵ/ହ൯
ଷ
 = 1164,2696  i.e. 

1,65578... 

 

Indeed: 

                       ඨቆටଵଵଷାହ√ହ଴ହ

଼
+ ටଵ଴ହାହ√ହ଴ହ

଼
ቇ

ଷ
భర

= 1,65578 … ⇒  

                     ⇒  

                      = 1.655993...  

 

We have also that: 

27*4+10^3(((((Pi^3/60) * (4.7581443158 * 10^27) * ((((((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))))))))))^4 * 
576/(1.94587022666 × 10^13) * exp(((-Pi * sqrt(576)))))))))^(5/(52pi)) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 



162 
 

 More digits 

 
 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

And from the result 1725.95167185506689847333487849298..., we obtain: 

(1725.9516718550668984733348784929883088412989712453638)^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 

2 * (1725.9516718550668984733348784929883088412989712453638)^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 

(1725.9516718550668984733348784929883088412989712453638)^1/15 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.64362186010871455873490720337034033149194459420173908 

 

Now: 

 

 

We have that μ = 1/12 and n = 576, thence we obtain, for (77) and (80), the following 
result: 

 

  (((Pi^6) / (180 * zeta(5)) *  ((576 / (1/12))) * (((exp(-Pi*(sqrt(576))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
  

Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  

  
  

Note that, we obtain: 
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(7Pi)/(87)  * ((((((Pi^6) / (180 * zeta(5)) *  ((576 / (1/12))) * (((exp(-
Pi*(sqrt(576))))))) 

Input: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Exact result: 

 
Decimal approximation: 

 More digits 

 
Open code 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
  

 
Integral representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Open code 

 
 

 
Open code 

 
 

  

  
  

 
The result 1.6187438414733908751431813333704766005093323784227589 × 10-29 
is a very good approximation to the value of golden ratio 1,61803398… 
 

From: 

 

 

For n1n5 = 8, c = 3 and nK = 128, from the eq. (83), we obtain: 

((((3 / (1.945870226666 × 10^13)))) * (sqrt(8/128)) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

3.8543166431249075063851722662349196511563991176099316 × 10^-14 

And: 

1/ (((((((3 / (1.945870226666 × 10^13)))) * (sqrt(8/128))))))^1/64 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.6202967915424 

This result is very near to the value of golden ratio 1.61803398... 

 

We have also: 

1/ (((((((3 / (1.945870226666 × 10^13)))) * (sqrt(8/128))))))^1/27 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 

2/ (((((((3 / (1.945870226666 × 10^13)))) * (sqrt(8/128))))))^1/27 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
6.2783678721588528469128817406382132428560328863287490 

Results that are very near to the values of 𝜋 and of the length of a circle of radius 
equal to 1: 2𝜋 

From eq. (84), we obtain: 

(Pi^3/60) * (4.7581443158086875924 * 10^27) * ((((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))))))^4 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

((((3.854316643124907506385 × 10^-14)^2 * (1.945870226666 × 10^13))))) / 
((((exp((((Pi*3.854316643124907506385 × 10^-14*1.945870226666 × 10^13))))-
1)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

The final result is: 
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(Pi^3/60) * (4.7581443158086875924 * 10^27) * ((((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))))))^4 * 
(((3.0267207594796896211468181363271747269049649317 × 10^-15))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

1/ (2.5699718484414413879084168551853846277523893240 × 10^-47)^1/223 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.617797232103301159000614387871237651834082097712 

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

 

From eq. (85), we obtain: 

(zeta (3)/30) * (4.7581443158086875924 * 10^27) * ((((((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))))))))))^4 
 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
(((1/(1.945870226666 × 10^13))) * (((sqrt(128/8))) 
 
Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

 
The final result is: 
 
(zeta (3)/30) * (4.7581443158086875924 * 10^27) * ((((((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))))))))))^4  * 
(((2.0556355429999506700720918753252904806167461960586301 × 10^-13))) 
 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
1/2 (((((1/ ((1.3533419166425984230015741260045868872261962557 × 10^-
46))^1/220 + 1/ ((1.3533419166425984230015741260045868872261962557 × 10^-
46))^1/219))))) 
 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.617967805714668735089583962613054814469912033398 
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This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 
 
Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

From (85), we have also that: 

27*4 + 10^3 * 1/2 (((((1/ ((1.35334191664259842300157 × 10^-46))^1/220 + 1/ 
((1.35334191664259842300157 × 10^-46))^1/219))))) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 
 
((((((27*4 + 10^3 * 1/2 (((((1/ ((1.35334191664259842300157 × 10^-46))^1/220 + 1/ 
((1.35334191664259842300157 × 10^-46))^1/219)))))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 

2 * ((((((27*4 + 10^3 * 1/2 (((((1/ ((1.35334191664259842300157 × 10^-46))^1/220 
+ 1/ ((1.35334191664259842300157 × 10^-46))^1/219)))))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
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Result: 

 More digits 

 
 

This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 

((((((27*4 + 10^3 * 1/2 (((((1/ ((1.35334191664259842300157 × 10^-46))^1/220 + 1/ 
((1.35334191664259842300157 × 10^-46))^1/219)))))))))))^1/15 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.643622884388018283186910410 

Continued fraction: 

 Linear form 

 
Open code 
Possible closed forms: 

 Less 



175 
 

 
Enlarge Data Customize A Plaintext Interactive  

 

 

 

 

 

 

 

 

 

 
 

 

 

Now, from:  

 

 

We obtain: 

(3 * zeta (5) / Pi^2) * (4.7581443158086875924 * 10^27) * ((((((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))))))))))^5 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
7.0596416991722628168207718657223178676483108561 × 10-48 

From the ratio of (85) and (75), we obtain: 

(((((((zeta (3)/30) * (4.7581443158 * 10^27) * [(((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16))))))]^4  * ((((2.0556355429 × 10^-13)))) * (((1 
/7.059641699*10^-48))) 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
19.170121859952544673927929541027980287012908920542400 

And: 

((((((((((((((zeta (3)/30) * (4.7581443158 * 10^27) * (((((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16))))))^4  * ((((2.0556355429 × 
10^-13)))) * (((1 /7.059641699*10^-48))))))))))^1/6 

Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6359529615205429347279718667777290267626333463559848 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

 

Moreover: 
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(((((((((zeta (3)/30) * (4.7581443158 * 10^27) * (((((((1/12 * 1/(((Pi*(2*6.67*10^-
11*13.12806*10^39)/(9*10^16))))))^4  * (((2.0556355429 × 10^-13))) * ((1 
/7.059641699*10^-48)))))))))^(e*Pi lnPi/60) 

Input interpretation: 

 
Open code 

 
 

  

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6179894943964844747732603127169065761101888974875227 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 Less 
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  

 
This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 
And: 
 
24*4+ 10^3(((((((zeta (3)/30) * (4.7581443158 * 10^27) * (((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^4  * ((2.0556355429 × 10^-
13)) * ((1 /7.059641699*10^-48))))))))))^1/6 
 
Input interpretation: 
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Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 
((((((((96+10^3*((((zeta (3)/30) * (4.7581443158 * 10^27) * (((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^4  * (2.0556355429 × 10^-
13) * (1 /7.059641699*10^-48))))))))^1/6])))^1/3 
 
Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 
2((((((((96+10^3*((((zeta (3)/30) * (4.7581443158 * 10^27) * (((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^4  * (2.0556355429 × 10^-
13) * (1 /7.059641699*10^-48))))))))^1/6])))^1/3 
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Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 

((((((((96+10^3*((((zeta (3)/30) * (4.7581443158 * 10^27) * (((((1/12 * 
1/(((Pi*(2*6.67*10^-11*13.12806*10^39)/(9*10^16)))))^4  * (2.0556355429 × 10^-
13) * (1 /7.059641699*10^-48))))))))^1/6])))^1/15 

Input interpretation: 

 
Open code 

 
 

  

Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6440022446937406012450656357909505804749760595237087 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

 

Hawking said, (see eq.83-84-85): 

...Thus we find that emission of KK charged scalars dominates neutral emission, 
independently of the moduli, for any near extremal state with nK very large. Thus we 
find that, although the absolute rates of energy emission by the black hole are 
moduli dependent, the relative rates of neutral and charged emission depend only on 
the integral charges and horizon potentials. 
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Mathematical connections between the Ramanujan Mock Theta Functions and 
the result of Cardy formula: 

1.0828815996251415942796175621426552475613218358896948 * 1081  

 

 

We remember that: 

 

For  q = -e-t  , t = 0.5  qn = -21.79216 * -e-0.5, we obtain: 

 

 

Where 

ψ(q) = -1.08185 + 1.08232 – 1.08232 =  – 1.08185  or: 

ψ(q) =  1.08185 - 1.08232 + 1.08232 =  1.08185 

Indeed: 

((-e^-(0.5)*(-21.79216))/((1-((((-e^(-0.5)*(-21.79216)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Alternative representation: 
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Open code 

 More information 
Series representations: 

 More 

 

Open code 

 

Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 

 

 

(((-e^-(0.5)*(-21.79216))^4))) / ((((((1-((((-e^(-0.5)*(-21.79216)))^1))) (((1-((((-e^(-
0.5)*(-21.79216)))^3)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Alternative representation: 

 
Open code 

 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

(((-e^-(0.5)*(-21.79216))^9))) / ((((((1-((((-e^(-0.5)*(-21.79216)))^1))) (((1-((((-e^(-
0.5)*(-21.79216)))^3))) (((1-((((-e^(-0.5)*(-21.79216)))^5)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Alternative representation: 

 
 

Series representations: 
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 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

We note that, from the following Mock Theta Function (that is the result of ψ(q) with 
minus sign): 

ψ(q) =  1.08185 - 1.08232 + 1.08232 =  1.08185 

the value obtained 1,08185 is a sub-multiple and is just half  of the Cardy formula, 
i.e. 1.08288159962514159427961756214265524756132183588 × 1081 

Indeed: 

-(((((((-e^-(0.5)*(-21.79216))/((1-((((-e^(-0.5)*(-21.79216))))))))) * 10^81 

Input interpretation: 

 
Open code 



187 
 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

The result 1.08185 * 1081 is very near to the above described value (Cardy formula) 

Moreover we have that: 

((((((((((((-e^-(0.5)*(-21.79216))/((1-((((-e^(-0.5)*(-21.79216))))))) * 10^81)))))^6 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6032453978877785334468482638727968441412222708 × 10486 

This result is a good approximation to the previous expression, i.e.: 

 ((1.08288159962514159427961756214265524756132183588 × 10^81))^6 

: 
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1.61244847308029939489786323492279358431379319686×10486 

Indeed, we have: 

1.603245397887 * 10486 ≈ 1.612448473080 * 10486 

This is a further confirm that the mathematics of the Ramanujan’s Mock Theta 
Function is linked to the black holes physics and mathematics   

 

We have also that: 

For  q = -e-t  , t = 0.5  qn = -21.79216 * -e-0.5 

 

χ(q) = 1+(-1.08185)+(0.00575937)+(-1.41949 × 10^-8) = -0.0760906441949 

       = 1+(-0.0760922)+(2.47992 × 10^-6)+(-3.51705 × 10^-14) =  

       = 0.9239102799199648295  

F(q) = 1+(-14.2995)+(33034.4) = 33021.1005 

Indeed, we have: 

((-e^-(0.5)*(-21.79216))^2 / ((1-((((-e^(-0.5)*(-21.79216)))) 

Input interpretation: 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

And: 

(((-e^-(0.5)*(-21.79216))^8))) / ((((((1-((((-e^(-0.5)*(-21.79216)))^1))) (((1-((((-e^(-
0.5)*(-21.79216)))^3)))))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 

Series representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
 

 
 
 
 
From the sum and some calculations of the following results previously obtained: 
 
1.64370541171099062871185131629251928958432650892909035 

1.6487212707001281468486507878141635716537761007101480 

1.6442109004131825039227356463880273603048609587634042 

1.6435923980586093145799367873492901635775398091369341 

1.6429804873354… 
 
1.6438187787578943564494183488914510895650008348787332 

1.6437161856103091607910999662475235481706517783810713 

1.6477158283216220606108224071415601414977900114636670 
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1.6439678304095125067795096413127798499015244293562323 

1.6437859005782310620161084756021656195303526362348984  
 
1.6437720382919401759948 

1.64388 

1.6438818674889841177750602517568866101168218651016596 

 
 
We obtain: 
21,37774889433 
 
From: 
 
(21.37774889433)^(Pi/20) 
 
We obtain: 
Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Series representations: 

 More 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
  

Integral representations: 

 More 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  

 
Open code 

 
 

 
Open code 

 
 

  
Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
  

 
 
This result 1.6177445222553...is a very good approximation to the value of golden 
ratio 
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In conclusion, we have: 

 

 

for n = 576, re = ((((2*6.67*10^-11*13.12806*10^39)/(9*10^16))))) =  

                        = (1.945870226666 × 10^13) 

We obtain, from (90): 

((((576^(5/2) * exp(((-2Pi * sqrt(576)))) /  ((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
1.32397 × 10-72  

And: 

10^5 * (((((((((576^(5/2) * exp(((-2Pi * sqrt(576)))) / ((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))^1/15 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6148238562401769858328227884677701470335818654192487 

1 / (((((((((576^(5/2) * exp(((-2Pi * sqrt(576)))) / ((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))^1/(((18+(27/50))^2))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6184943449646771577219063944557960017988943577329514 

Continued fraction: 

 Linear form 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 
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  

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

We obtain, from (91) 

1/ ((((((576^(3/2))*((((2*6.67*10^-11*13.12806*10^39)/(9*10^16)))) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
Open code 

3.7175121943707436291193178522979009091591028966818473 × 10-18 

And: 

1/  ((((((1/ ((((((576^(3/2))*((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16))))))))))))))^(Pi/262) 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6180681921430000025303833519837542067766701492987368 

Continued fraction: 

 Linear form 
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Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 

This result is a very good approximation to the value of the golden ratio 
1,618033988749... 
 

From (90), we obtain also: 

27*4 + 10^3 / (((((((((576^(5/2) * exp(((-2Pi * sqrt(576)))) / ((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))^1/(((18+(27/50))^2))) 

Input interpretation: 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

And: 

((((((((((27*4 + 10^3 / (((((((((576^(5/2) * exp(((-2Pi * sqrt(576)))) / ((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))^1/(((18+(27/50))^2)))))))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 More digits 

 
 
This result is very near to the value of black hole entropy 12,1904 

 

2*((((((((((27*4 + 10^3 / (((((((((576^(5/2) * exp(((-2Pi * sqrt(576)))) / 
((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))^1/(((18+(27/50))^2)))))))))))))^1/3 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 
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 More digits 

 
 
This value is linked to the "Ramanujan function" (an elliptic modular function that 
satisfies the need for "conformal symmetry") that has 24 "modes" corresponding to 
the physical vibrations of a bosonic string. 

 

((((((((((27*4 + 10^3 / (((((((((576^(5/2) * exp(((-2Pi * sqrt(576)))) / ((((2*6.67*10^-
11*13.12806*10^39)/(9*10^16)))))))))^1/(((18+(27/50))^2)))))))))))))^1/15 

 

Input interpretation: 

 
Open code 

 
 
Enlarge Data Customize A Plaintext Interactive  
Result: 

 Fewer digits 

 More digits 

 
1.6436563075211928853924618067663189935675478291088947 

Continued fraction: 

 Linear form 

 
Open code 
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Enlarge Data Customize A Plaintext Interactive  
Possible closed forms: 

 More 

 

 

 
 
 
 
 
 
 
Conclusions 

As we can see, the results of the present thesis are particle-type solutions (glueball 
with the average value of its mass, mesons, baryon, etc...), values of black holes 
entropies, 𝜋  and 𝜙 approximations. Many solutions of our mathematical expressions 
are golden numbers, numbers that are in the range that goes from 1.6 to 1,675, then 
an interval of the value of golden ratio: 1.61803398. These values of the solutions, 
which are results from the study and development of some equations inherent the 
black holes physics, mainly the solutions that provide golden numbers or the golden 
ratio itself and the 𝜋 approximations, let us suppose that the multiverse is based on 
these two wonderful mathematical constants: 𝜋  and 𝜙 
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